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Time: 10 Minutes | Paper Math 6 (T-1) Total Marks: 10

| 1st Month, 4th Week, 1st Day | Unit # 1: Factors and Multiples |

Q.1. Choose the correct options. (0.75x4=3) -/ /':..«@:'ll(..,lﬁuj;
(i) Which of the following is an integer? ?‘Luﬁé‘ l/u:’/cufdj 3 1O%)
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(ii) Which one of the following is not integer?

?‘Lu.?iﬁ é‘ l/u:’/cuf J: 3l

@ +16 | 35 |©] += |@ -10

(iii) Hadi has Rs.12 in his pocket, but Neelam gives him Rs.4 and
Hamza gives him Rs.3. How much money Hadi has in all?
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(a)|Rs.15 < »/15[{(b)|Rs.16 < 2/16[(c)|Rs.17 < 2/17((d)|Rs.19 < 2/19
(iv) Which .one of the following is integers? . .
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Q.2. Describe and show your position on number line if you

@| +16

begin at 8, move right 8 steps and then move left 8 steps.
8 i S e 8Ty by Ay S ol Sy )
(1x2=2) -u.‘.’?rﬁs._s)ufgmu.‘.’?(ﬁ
Q.3. Identify the integers in the following numbers. (1x2=2)
+12,21.4,-17, 1%, 0, 18.4 -d,/cﬁ:ut‘d"ﬁw'é‘ui':w'd:‘au

Q.4.When Saba woke up, her temperature was 101°F. Two hours
later it was 4°F lower. What was her temperature then?

261G\ 4F 7ok 100 8 1 3101°F etz 1 Fllon
(1x3=3) WY el
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